
kl/df0f ef/ ah]6 ?=
nfvdf

kl/df0f ef/ ah]6
?=nfvdf

8.6.42.760 ks]6 If]qdf nf}7;Nnf v]tL lj:tf/ -cGo_ Kofs]h 1 37.3 8.35 1 37.33 8.35

8.6.42.769 u}x|sfi7 tyf hl8j'6L e08f/0f tyf k|zf]wg
s]Gb| lgdf{0f cg'bfg -cGo_

j6f
1 22.4 5.01 1 22.00 4.92

8.6.42.913 cu/p8 la?jf cflb vl/b tyf ljt/0f
xhf/
j6f

1 14.5 3.25 1 14.53 3.25

8.6.42.936 ;t'jf v]tL la:tf/ k6s 1 12.4 2.78 1 12.43 2.78
s_ k'FhLut vr{ sfo{S|dsf] hDdf 19.39 86.29 19.3
cf rfn' vr{ cGtu{tsf sfo{qmdx?

2.19.1.23
hl8j'6L ;DjGwL cg'udg, ;dGjo / k|rf/
k|;f/ -cg'udg d"Nof+sg tyf sfo{qmd
sfof{Gjog e|d0f vr{ _

lhNnf
1 13.3 2.98 1 13.32 2.98

v rfn' vr{ sfo{qmdsf] hDdf 13.3 2.98 13.32 2.98
s'n hDdf vr{ 22.37 99.61 22.28

      cfly{s k|zf;g zfvf of]hgf zfvf sfof{no k|d'v

cf= k"hLut vr{ cGtu{tsf sfo{qmdx?

aflif{s ef}lts k|ult !)) %
aflif{s efl/t k|ult ((=^ %

s}=
aflif{s k|ult

l;=g= lqmofsnfk PsfO{
jflif{s nIo

jg tyf jftfj/0f dGqfno
jg ljefu

lhNnf jg sfof{no dsjfgk'/

cfof]hgf÷sfo{qmdsf] gfd M hl8j'6L ljsf; sfo{qmd                        cf=j=@)&$÷)&%

ah]6 pkzLif{s= g+=#@(!)@
aflif{s k|ult k|ltj]bg


